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BErE AR BE ARBE RSB &5 REPERSIEZE EAGT
RSB XIEBENA 6,183, 039 0 0 6, 183, 039 6, 183, 039
BRI —C RS BEIRA 74, 605, 540 0 0 74, 605, 540 74, 605, 540
g | EDAEDBEHEUTA 1,718,757 0 0 1,718,757 1,718,757
R\ | memaEsmamA 4,789, 420 0 0 4,789, 420 4,789, 420
& | FERSER LRI A 653 0 0 653 653
5| |TOMOERA 10,410 0 0 10,410 10,410
- | [FEERRAGT (1) 87,307, 819 0 0 87,307,819 0 87,307,819
NFEZH 60, 734, 620 0 0 60, 734, 620 60, 734, 620
e 7,235,113 0 0 7,235,113 7,235,113
2| X | B 7,735,113 0 0 7,735,113 7,735,113
IR | i 3R B 6,101, 934 0 0 6,101,934 6,101, 934
=| |eotoss 0 0 0 0 0
FEEBHL L (2) 81, 806, 780 0 0 81, 806, 780 0 81, 806, 780
SEIHESNZAR (3) = (1) — (2) 5 501, 039 0 0 5,501, 039 0 5,501, 039
|y [ R RS R 0 0 0 0 0
i S BB RS LA 0 0 0 0 0
%\ R RS (4) 0 0 0 0 0 0
[ X | EEEERE X 608, 320 0 0 608, 320 608, 320
£ i RS R et (5) 608, 320 0 0 608, 320 0 608, 320
| o [ mEE A=A (6) = (4) - (5) 608, 320 0 0 608, 320 0 608, 320
o || EEREIRA 973,418 0 0 973,418 973,418
| 2 [EOAEDEBIESRA 0 0 0 0 0
| N ZofOEBRAGT (7) 973,418 0 0 973,418 0 973,418
8|, [ EES S 8,004, 731 0 0 8,004, 731 8,004, 731
(€ |y |EOMOEBICL B 4,000, 000 0 0 4,000, 000 4,000, 000
£ | |zofhoEsz izt (8) 12,004, 731 0 0 12, 004, 731 0 12,004, 731
> [ZothoEsEERZER (9) = (7) — (8) 11,031, 313 0 0 —11,031, 313 0 11,031,313
LSS Emast (10) = (3) + (6) + (9) 6, 138, 594 0 0 6, 138, 594 0 6, 138, 594
BRI E RS (11) 56, 372, 396 0 0 56, 372, 396 56, 372, 396
LR ESES (10) + (11) 50, 233, 802 0 0 50, 233, 802 0 50, 233, 802
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